Ubungen Wurzelgleichungen | 16.082009 | ‘)4

Bestimmen Sie die Lésungsmengen der Wurzelgleichungen!

1. 5+ |/5x—1 = X

2. V7x+15 = 1/2x—5 +5

3. x+2+ |/24x—72 = 5-x

4, ]/2x+4 —V5x+1 = ]/2x+16 —V5x+9

5. |/5x+1 +]/4x—3 = VZX—S

4-]/3x+4 —4-]/ax+1 = =

[/3x+4 +]/4x+1

3x+4

-1

7. x—l/ 33—-x2-4x = §

8. |/]/5x+4 ~J/2x-1

=2

9. J/2x—1+|/6x+3 = |/11x+5

10. 2x-26)/X +72 = 0

11. 2x=-3)/x =2

12. Vx+3 +V2x+5 =2

13. Vx+4 = sz—1 +6

14. 30x-16)x +2

0

15. V5+x —l/S-—x

V3—X ~ l/3+x

1

(=)

V57 49 -1 =

3

x;=13 ; keine Losung: x,=2
=3, x,=7

keine Losung: x=4,5

x;=0; keine Ldsung: XZ=%
. P ’7
keine Losung: x,=3; X,= — 37
X =_3_ .
1 4
keine Losung: x =35
g' 2 4

keine Losung: x,=~1 ; x,=4
xl=L;5 ; keine Losung: x,=1
x;=1 ; keine Ldsung: X2=—T7§
x;=16 ; x,=81

x1.=4 ; keine Losung: x,=0,25

x,=-2 ; keine Losung: x,=22

keine Losung: x;,=5 ; x,=221




